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LIC AAO Mains Previous Year Paper of Reasoning - 2019
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Solutions

S1. Ans.(d)

Sol. All the statement except (d), cannot be
assumed from the given statement as data provided
in the statement is not enough to assume the
increase or decrease in NPA from the previous year
also it is not clear whether NPA is the only cause of
pain to banking sector. Further we also cannot
assume from the given statement that steps taken
by the government are not enough or some other
sector is performing better than it. But it can be
clearly assumed from the given statement that after
the proper implementation of the policies and
reforms there will be some improvement in the
condition of the banking sector.

S2. Ans.(a)

Sol. Only statement (a) can be deduced from the
given statement as by burning the coal the
concentration of its particles is increased which
lead to excessive amount of air pollution. But for
others (b) and (e) can be assumed but cannot be
deduced. While for (c) and (d) the amount of
average rainfall and its consistency in not directly
given in the statement.

Solutions (3-7): Step 1:- From the given
conditions, first we will establish the blood relation
among the eight members of the family who all are
related to Q in a certain way, Q sits third to the left
of his mother-in-law from this statement it is clear
that Q is a male. B is the grandson of A, N is the aunt
of B. N is the only daughter of M. A and O is not the
married couple. O has only one son. O is the mother
of R. Son of Q sits third to the right of Q’s brother-
in-law. R is not married. From this given condition
N is sister of Q. Q is married to P who is sister of R.
A is husband of M who is the mother of N. P is
married to Q.

Blood Relation Tree

M==A

() | (+)
N—Q=—P R(+)
() (+)| ()

B(+)

o)

Step 2: - Using the given conditions, Q sits third to
the left of his mother-in-law, who sits second to the
left of sister of R (i.e. P). N is not the immediate
neighbour of P. A who sits third to the right of N. So,
there will be two possible cases. In which N sits
either on the immediate left or on immediate right

of Q.

P

A

Q Q
Case 1 Case 2

Step 3 :- From the remaining conditions, M sits on
the immediate left of brother in law of Q (i.e. R). So
case 1 will be eliminated as there is no possible
sitting for M and R. Now continuing with case 2, Son
of Q (i.e. B) sits third to the right of Q’s brother-in-
law (i.e. R) from these condition we get our final
solution.

$3.Ans.(d)
$4. Ans.(c)
S$5. Ans.(e)
$6. Ans.(a)
S7.Ans.(b)

$8. Ans.(d)
Sol.
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For I- From the venn diagram it is clear that some
part of BOB is in RBI. Hence, the conclusion I
follows.

For II- Since there is no direct relation between the
elements UBI and PNB and only some part of BOB
is not PNB. Therefore, we cannot conclude that
some UBI is not PNB.

For III- Since it is given that some BOB is not PNB,
nothing has been mentioned about some/ all PNB
being or not being BOB, hence possibility case will
hold true. Hence, the given conclusion is satisfied.

S9. Ans.(c)
Sol.

For I- Since there is no direct relation between the
elements dial and hour, So, possibility case will hold
true. Therefore we can conclude that some dial is
not hour is a possibility.

For II- Since there is no direct relation between the
elements minutes and second. Therefore, we
cannot conclude that some minutes are second.
For III- Since there is no direct relation between the
elements watches and second. Therefore, we

cannot conclude that all seconds are watches.

$10. Ans.(e)
Sol.

For I- Since there is no direct relation between the
elements Lenovo and Huawei. Therefore, we
cannot conclude that some Lenovo is Huawei.

For II- From the venn diagram, it is clear that some
Samsung is Huawei. Therefore negative case of the
same cannot be concluded. Hence conclusion II
does not follows.

For III- From the venn diagram , it is clear that all
Lenovo is honor. Hence the conclusion some
Lenovo is not honor is a possibility cannot be
concluded.

S$11. Ans.(b)
Sol.

For I- Since there is no direct relation between the
elements Lenovo and Samsung. Therefore, we
cannot conclude that some Lenovo is Samsung.

For II-Since all moto is Samsung and some moto is
not Huawei, there fore we can conclude that some
Samsung is not Huawei.

For III- Since, there is no relation between Lenovo
and Huawei and a negative conclusion with
possibility can hold true. Hence, the conclusion III
follows.

Directions (12-16):

There are two persons sitting between E and C
whose salary is second lowest means C is getting 7k.
B who is not an immediate neighbor of E is sitting
at one of the extreme ends of the line. So, there are
two cases:

E C(7k) B K
I R MR P57,

- m
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Q is sitting second to the right of P and is not facing
either E or C. T who is not facing B and is not getting
the highest salary is second to the left of P. So case-
2 is eliminated. S who is getting 1k lesser than the
salary of D is not an immediate neighbor of T and is
not getting 19k. A is not facing R and do not earn
the highest salary. R is getting a salary of 8k. So the

sitting arrangement is:

]f D A C(7k) B
| | ] |
I I I ] T

| | | 1 1
[ [ [ [ |
T R(8k) P S Q

R is facing the person whose salary is a multiple of
5. S is getting 1k lesser than the salary of D but not
19k means D is getting 10k and S is getting 9k.
Salary of A is double the salary of B but not 18k
means A is getting 12k and B is getting 6k. Q is
getting salary more than S and less than E who is
not getting the second highest salary. Difference
between the salaries of Q and P is 5k means Q is
getting 15k and P is getting 20k. E is getting 18k and

T is getting 19k. Final arrangement:

E(18k) D(10k) A(12k) c(7k) B(6k)
| | | |
|

———1—
T(19k) R(gk) P(20k) S(9%) Q(15k)

$12. Ans.(a)
$13. Ans.(c)
$14. Ans.(d)
$15. Ans.(e)
$16. Ans.(d)

$17. Ans.(e)
Sol. I: S>Y (True)  II: S>T (True)
$18. Ans.(a)
Sol.I: R<I(True) II: E> O (False)
$19. Ans.(d)

Sol.I: B< O (False) II: B< O (False)

$20. Ans.(d)

Sol.1: Y >R (False) II: Y 2R (False)

Solutions (21-25): Two persons are giving exam
between Q who doesn’t give SBI Clerk exam and S
who doesn’t give exam in the month of 31 days.
Here, we get two possibilities i.e. Case 1 and Case 2.
Person who gives SBI Clerk exam gives just before
P and just after R.

Case 1 Case 2
Months Persons | Exams | Persons | Exams
March R
SBI
May R
Clerk
SBI
June S P
Clerk
July P Q
August
October Q
November S

Person who gives SBI PO exam gives just before N
and just after M. Here, Case 2 is ruled out. There are
as many persons are giving exam before the person
who gives SBI SO exam as after the person who
gives SSC CGL exam. O doesn’t give SSC CGL exam.
R doesn’t give IBPS PO and SSC CHSL exams. P
doesn’t give IBPS Po and IBPS Clerk exams. So, the
final arrangement will be: -

Months Persons | Exams
March 0 SBI SO
May R IBPS Clerk
June S SBI Clerk
July P SSC CHSL
August M IBPS PO
October Q SBI PO
November | N SSC CGL

S$21. Ans.(c)

S$22. Ans.(a)

$23. Ans.(b)

S24. Ans.(b)

$25. Ans.(c)
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Solutions (26-27):
B>C=>E=>D=>=A

32 20
$26. Ans.(b)
$27. Ans.(b)
$28. Ans.(c)
Sol. Either Argument I or Il is strong because many
times ruling government misuse it while

sometimes dissolving the assembly becomes the
need of the hour.

$29. Ans.(a)

Sol. Argument I is strong because it will reduce the
problem of black marketing of commodities
supplied under PDS. Argument II is not strong
because it is not directly related with the statement.

$30. Ans.(b)

Sol. The statement hints at following the practices
used by leading institutes as a positive feature of
the MN. Institute. So, only II follows while I does
not.

Hence, the answer is (b).

IDBI BANK

Assistant Manager

English Medium

80+ Total Tests
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